UG-C-2239 BCO-31X

U.G. DEGREE EXAMINATION —
DECEMBER, 2023.

Commerce
Third Year
COST ACCOUNTING

Time : 3 hours Maximum marks: 70

PART A — (3 x 3 =9 marks)

Answer any THREE questions out of Five questions in
100 words.

All questions carry equal marks.

1. Find out economic order quantity from the
following particulars: Annual usage Rs.1,600
units; Cost of material per unit Rs. 40; Cost of
placing and receiving one order Rs.50; Annual
carrying cost of inventory 10% of inventory value.
Yetreu(mLd eNleuriset el (mHE) Qummermsmy
cuflevgullenr eremeusd searLdwueyd (EOQ); e
pwerum® eh.1,600 Welll &6, eh weill ummetler
aNenew fp.40, NG T DT aeULILISMH&LD
QumieugH@rear ey @H.50, Fr&E WLHLIGD 10%
Fr&@saer aumLTBIT &ohg Cedaib CgFwa,.



2. From the following particulars prepare the Stores
Ledger by adopting Last in First out method.

2003 March 1 Purchased 200 units at Rs.2 per unit
2 Purchased 800 units at Rs. 3 per unit
3 Issued 500 units.
Gemeupd  efleugmsaiadlmbg  evGLmiey  CuGHE
LIFO werpuliled swit Qeiiwie]i.
2003 writF 1 welll QeatmidE@ eh.2 erarn eigh
200 w,eflCgseir QameTpse
Qewiwtiuc L g)
2 el QamméEE h.3 eTern eis
800 w,eflC_gseir QameTps
Qewiwtiuc L g)
3 500 W,al &eT eupmisliLL L g).
3. Define Overhead Costs.
Cueaflane Cswesmer euanTwm&Esea, L.

4. 10,000 units are introduced into a process at
Rs.10 per unit. All other expenses are Rs.8 per
unit. Normal loss in the process is 10%. Scrap
value 1s Nil. If output 1s 9,000 units, ascertain the
cost per unit in the process.

10,000 WeML &6T ¢(h Wall_ (H&@, eh.10 eremm (pepmulled
@ Uigapapuild Mlipsiinbhdsliubhdeamer. HD
oarsg  OdsweyseErd  @m  wealll(&E@  ep.8
vigpeppuiléd @uidbuimer @i 10% @b, evdlrmL
oy @dme. Geeflih 9,000 el serms
@mbsTe®, Lgperpuier e welll sarar dFwameud

ST MweLd.
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5.  Ascertain contribution : Sales Rs.12,00,000;
P/V ratio 35%.

umsailienus sarLdwe|b: elpueaer . 12,00,000,
P/V aQdlsib 35%.

PART B — (3 x 7 =21 marks)

Answer any THREE questions out of Five questions in
200 words.

All questions carry equal marks.

6. A factory produces 100 units of a commodity.
The cost of production is :
Rs.
Materials 10,000
Wages 5,000
Direct expenses 1,000

Factory overhead 125% on wages: office overhead
20% on works cost. Expected profit 25% on sales.
Calculate the price to be fixed per unit.

em Qzmhsreae 100 weflll QurmLsamer 2 HLSS
Qelidlpgl. 2 HusSH Cgwa a6 YemehHOTD.

€.
QuIT(mL_&eT 10,000
G060l 5,000
Crrg C&weyser 1,000
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Qarfibgmeme Ogweser gmealluledy 125% Fgelldlsb,
SQeles Ogweyset 20% FHelElsD  CQgmpharana
Qgevailed, aflhLienaruiled 25% emuD eTHMUMTSSILHE DS
) well(N&@ — Blifemuissiinpin afemevenuid
SETERS () BIGET.

State the basic methods of wage payment.

el QUPBIGUSHETET  DiqLILIDL  (PEDEHEDETSH
GO L.

From the following data find out profit as per cost
accounts

Profit as per profit and loss account Rs.4,80,000
Over recovery of factory overhead Rs.5,000

Profit on sale of asset shown in financial accounts
Rs.1,000

Dividend received Rs.2,000 appears in profit and
loss alc.

Gemeumd sreyseatiad(mhg OFme|s saTd@GseteLilg
@oTusmss SerTLHlwie,Lb.

@eru pLLS sems@Liulg @eruib . 4,80,000
Qarfihgrene Cuoeblerew Ggwey 5.5,000 &@ Coe
B

Bds  sawms@said  sri LUl (Heter  CQansSler
edlhuenaruiler @emrud em.1,000

QupuulL meygbgrens  65.2,000 @erubd WwHmID
Bl L & S @LILg.
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Senthil construction company undertook a
contract for constructing a building from

1st  January 2010, contract price was
Rs.1,00,000. He incurred the following expenses.
Rs.

Materials 1ssued 6,000
Materials in hand, at the end 1,000
Wages 5,000
Direct expenses 20,000

Plant purchased 10,000

The contract was completed on 30t June 2010 and
the contract price was duly received.

Provide depreciation at 20% per annum on plant
and charge indirect expenses at 20% on wages.
Prepare contract account in the books of the
company.

Qapdledr sL_(Hwmer Hmeuard 2010 meareufl 1 ApSHed
sligl b sl (Qeugharear @liLbssms GbHbsmeTL g,
@UUbBS I @F.1,00,000. Sjeur  GemeuHd
Qeoe|smarg Clswsm.

€.
auprIslUL L. Qumrplaer wdiy 6,000

asulled 2 arem QumpLseT L 1,000 (@miSuliev)

G060 5,000
Crrg Ceeygser 20,000
QLMD GUTEISLILIL LG 10,000
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10.

@UIUBSD 30 Pt 2010 e (PgSSLILL (D
@uUbs el paPWTEI CUDLILLL . AMOE5E
QaTHEGE 20% Coubrarsams UPBISE(D LHmID
Falulldd 20% wwPWPS GlFLEFMET  CUEHEH|D.
flmeuarsdlen Lsssnsaild QUUBSE S@TEMES
sWmil&sa]Lb.

A manufacturing company finds that while cost of
making a component part is Rs.10, the same is
available in the market at Rs.9 with an assurance
of continuous supply. Give your suggestion
whether to make or buy this part. Give also views
in case the supplier reduces the price from Rs.9 to
Rs.8. The cost information is as follows.

Rs.

Material 3.50
Direct labour 4.00
Other variable expenses 1.00
Fixed expenses 1.50
10.00

@n 248f ursbd swurfluughstar Cgwe (.10
&b, 2Cs sowWbD Fhasule 5.9 &@E CsTLHg
ABICWNsDL Sl &@Hb eTemm e 2 HuSS Hlmieuerd
sarLDpgleerg. @bs LUTasams sWMilliLsT Ddaog)
QUMBIGEUST T 2 MBS HpCOTFMETMIL GULPBISE,LD.
sleeTm  elleneenw .9 @ @QBHE  H.8 &S
GophsTer  glorsmaranw CsTHBSET. L &5
Qeoe| elleugmser WeTemHomn :
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QummeT
Gyl ga6dl
Wp wrd CFee|ser

Blevawimer Cgaae|ser

erp.
3.50
4.00
1.00

1.50

10.00

PART C — (4 x 10 = 40 marks)

Answer any FOUR questions out of Seven questions in

11.

500 words.

All questions carry equal marks.

From the following information prepare a cost

sheet for the month of April :

Opening stock of materials
Closing stock of materials
Materials purchased
Carriage on purchases
Sale of finished goods

Direct wages

Rs.
25,000
26,200
21,900

1,100
72,300

17,200
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Rs.

Non-productive wages 800
Direct expenses 1,200
Factory expenses 8,300
Administrative overheads 3,200
Selling overheads 4,200

Qemeumd  efeurmigefled(pbg  erlifed LTSS HSTET
SLSsMeme Lliguene suTilEsa)n :

€.
F1&@ QST_&s @) iy 25,000
15 @md @iy 26,200
QumrmLser Casmarpsed GEFwutiul L g 21,900
2 T FM&E a6l 1,100
elpuener L LIL 72,300
Cririg. &n6d 17,200
e (2 HusHwubmg) 800
Criry QFeaaser 1,200
Qamfiherene CFaaeser 8,300
Blreuns GFa|ser 3,200
puenar QFwe|sH6r 4,200
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12. X company has purchased and issued materials as

under :

1998 April

1

3
7
10
12
18
24

28

Stock of materials 200 units at Rs.2.5
per unit

Purchased 300 units at Rs.3 per unit
Purchased 500 units at Rs.4 per unit
Issued 600 units
Purchased 400 units at Rs.4 per unit
Issued 500 units
Purchased 400 units at Rs.5 per unit.

Issued 200 units

Prepare the stores ledger under FIFO method and
LIFO method.

X flpeuand Spssameurn Qurmlsaer  eumkid

Qeuatludl_(peTerg

1998 eriiréd

1

F1&6@ Csmss @muL well H&éE p.2.5
Gigld 200 weflL_aer

el @emmsa@ .3 eisd 300 welll sar
QameTpsd CEuwriulLg
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13.

14.

7 Welll @erm&s@, (h.4 eisb 500 wefll ser
QameTpsd Qe Lg

10 600 wefll ser euprisliLil Lg)

12 welll geamss op.4 aisb 400 wefll st

Qamempsd QEuwtiulLg
18 500 wefll g6t cuprisliil g

24 well geatm&E (h.5 aigh 400 wefll ser
QameTpsd CEwnul L g

28 200 Welll &6 eupmIsLILILL g

FIFO @weop womid LIFO wpepuler & evCLmien
CuGrhsamers swmiléEse]b.

Elaborate the classification of overheads.
CuhLsweysaflar euamsiLm L eNelM&seaLb.
Write a detail note on the following :

(a) Job costing

(b)  Process costing.

emeu(meuareupenm GMHILIL| eUanTs :

(<) Ceauewe Cseway

(<)) ugperp Cwey.
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15.

Assuming that the cost structured and selling
prices remain the same in period I and II.

Find out :

(a) Profit volume ratio

(b) Fixed cost

(¢) Breakeven point for sales

(d) Profit when sales are Rs.1,00,000

(e) Margin of safety at a profit of Rs.15,000 and

(f)  Variable cost in period II.

Period Sales Profit
Rs. Rs.
I 1,20,000 9,000
II 1,40,000 13,000

Qeea] wHmb elpuemer elleugniger I whmibd II-<ypib
sre sl Lmsald @Cr wrdilurs @Qme@h ererm
ausg50smarGeurid. Gememeuameupann e (hig.
(@) PV aldlsid

(<) Bleveowrear GFwe]

(@) aflgwn yerefl
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(FF)  eflhLuenar emh.1,00,000-%8 @ (HEH@GLD UG,
@aemuLD eTeleeTa ?

(2) @erud  6H.15,000-2%s @@H&EGSD  Cumpg,
urgasmiiy edleflibLy ereueuera?

(2ar) e II-Garer b CFwe|ser

E puewer  @emubd
- -

I 1,20,000 9,000

11 1,40,000 13,000
16. Prepare reconciliation statement from the

following :
Rs.

Net loss as per cost accounts 34,500
Net loss as per financial books 40,950
Works overhead under recovered in costing 6,240
Administrative overhead recovered in excess 3,400
Depreciation recovered in costing 11,200
Depreciation charged in financial accounts 12,500
Interest on investments not included in costing 6,000
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Rs.

Goodwill written off 5,000
Provision for doubtful debt in financial accounts 1,260
Stores adjustment (credit in financial books) 950
Loss of stock charged in financial accounts 3,000

Gemeupd  elleurrisefall(pbg  Fors  dsmasamws
swrflgsab :

€.
Qeee| sams@asaflerilg. Hlay BLL D 34,500
B8 Ussanisefleruig flsr B b 40,950
Caumars Csrans Qe s Usss w1
Qb B QL HEsLrLer 6,240
Hlireurs Qe sdr HFswms U sl L g 3,400

Qewa| samsdld Cauiwmeand B QL E&siurLg 11,200
Hld& sems@safler Cauibrand eu@dlssiiubdng 12,500

WPESHEHEREETET Ul g CFay
sarsdled CarssiuLatléeney 6,000

BHELUWMD gaT@EpLly QEuiiug L g 5,000
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17.

€.

HlEs sensgsafler sbCss55mHE MW
SLESSHT @SS H 1,260

evGLmiev sMOswsad (HlF Lsssmsaiian &L er) 950
HlE& sems@sefle au@alssliL@b #r&E@ pLLb 3,000

Explain the differences between cost centre and
profit centre.

Qe ewbW WLHML @6y ewwbd  Ydw
@ramghehd Q@QerGu  oder  GeumpurHEemer
cNlerd@s.
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UG-C-2240 BCO-32X/
BBCA-32X

U.G. DEGREE EXAMINATION —
DECEMBER 2023.

Commerce/Computer Application
Third Year
COMMERCIAL LAW AND INDUSTRIAL LAW

Time : 3 hours Maximum marks : 70

PART A — (3 x 3 =9 marks)

Answer any THREE questions out of Five questions
in 100 words.
All questions carry equal marks.

1.  What is meant by void agreement?
QFeraTs @UILIBSD CTETHTE CTETET ?

2. Which law is applicable for breach of contract?
RUILIBSSMS BMeusH @ ThsE L b QuUTHHEILD ?

3. Give a note on warranty.
@uUDdl LDHl GHLY (g

4. What is a factory?
QFTODHEFTEME GTETDITED GTETET ?

5.  Who comes under workmen compensation?
Qamemerigafien @IS Iq6r S W GUHEUMTESET ?



PART B — (3 x 7 =21 marks)

Answer any THREE questions out of Five questions

10.

in 200 words.
All questions carry equal marks.

Is contingent contract legal or not? Explain.
sHOFwLIeTET @UUBSLD FLLLI L TeULOTETS T
@enawim? allerd@s.

What are the two types of contract of guarantee?

2 FFTOUTSSSen  @QUEm(H CUMSWLITET  eLILIbSBEISET
WImene ?

What is the wvalidity of a registered sale
agreement?

udley Qeiwtiut L efpueer  @UILIBSSS 6
OFOQILIGUIMEGD ST 6TETET ?

What is a hazardous process?

SUTLSTOTET QFWOPED CTETDTE ETETET ?

What are the categories of workmen employees?

uenflyfuyd vesflureriseaier Gfleyser wrael ?
PART C — (4 x 10 = 40 marks)

Answer any FOUR questions out of Seven questions

11.

in 500 words.
All questions carry equal marks.

Elaborate the types of reciprocal promises.

ugevLy eund@midlasefler cuamasamer eilefsse]b.
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12.

13.

14.

15.

16.

17.

Explain the rights and duties of parties.
UUBSSHe FHUBL puisaiear o fawaem WwHMID
SL_aDLOSEET 6l6Ts E)s5.

Elucidate the rights and duties of buyer and seller
under sale of goods Act 1930.

QumpLser elpueaer L 1b 1930 6 S eumri@Liaui

wombd alpueifler o flenwsdr wWHMD SLawHMmeT

QgefleyLI(H S BISET.

State the duties of factory manager.

Qamflherane Gevmariflebr SLOLDSEETE

GO Laib.

Explain the benefits ESI Act.

Qsmeomert  sriybldl  FLLgdlem  Bemenlosaner

ollaTsGs.

Explain the essentials of valid contract.

Qeer@uiguim@hd @LUubssHer s wmeudluinigamer
A& GHS.

Trace the major reasons for industrial disputes.

Qzmfled  Curgas@Epssmar (PSS STTETEISMETS
ST MweyLd.
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UG-C-2242 BCO-34X

U.G. DEGREE EXAMINATION -
DECEMBER, 2023

Commerce
Third Year
AUDITING

Time : 3 hours Maximum marks : 70

SECTION A — (3 x 3 = 9 marks)

Answer any THREE questions out of Five Questions
in 100 words.

All questions carry equal marks.

1. Define Auditing.

sanflEens cuenrwimI.
2. What is Valuation of Assets?

Qerggissmer SLILADSED cTemmmed cTeTe ?
3. Define Depreciation.

Cauwibrerd euenyuimi.
4. What is Share Capital?

LIRI(& (LPEOSHEITLD 6TGUTDITED 6T GOTGOT ?



5.

Define Investigation.

cllemyenent cuenwLImI.

SECTION B — (3 x 7 = 21 marks)

Answer any THREE questions out of Five questions in

10.

200 words.
All questions carry equal marks.
What are the objectives of Auditing?
sanflEansuier Crrasniger LHO er(pgis.
State the importance of Verification.
sflumrggeler (pasHwuggieud LHMH 6T(HSHISH.
Explain the rights and duties of Auditor.

Rm satlsamswuflear o few wwHmb  Cummiligb
cllaTsGs.

Explain the qualification of Auditor.

sanflsenswmarfen s@daer LHd elleufl.

What are the objectives of Investigation?

cllemyenemruien Crrésmiger LHO 6T(PFIs.
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SECTION C — (4 x 10 = 40 marks)

Answer any FOUR questions out of Seven questions in

11.

12.

13.

14.

15.

16.

500 words.
All questions carry equal marks.

Explain the Characteristics of Internal Control.
955 sl iger Spridweoyser ubhm elleul.
Explain the difference between Internal Audit and
Statutory Audit.

955 sanflEanssEh LoHMILD FLL(padDS
sanflEamas@h 2 drer Caumuimhser ebleufl.

Briefly explain the Vouching of various Cash
Payments.

ueGaumur L Qréss QTS H60 (@& e
gremmie] Ubhm eSleurl.

Difference between Vouching and Verification.
srampmueihH@d sNUTTESEESD Qe GCu 2 dar
Caumurhiser Lupbl eT(Lpgis.

Discuss the auditing under Management Control.
Cuerarenn s (Humiiged o éter ganfllsens LDHD
clleurdlGsayb.

What are the kinds of Dividend?

UBISTSTUSSH T eUNSSHET LIDM 6T(LpgIs.
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17.

Explain the Liabilities of an Auditor to Third
Parties.

EPETDITD BLTEERSE Safldaswmartler GummiiLjser
ubd efeul.
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U.G. DEGREE EXAMINATION —
DECEMBER 2023.

Commerce
Third Year
INSURANCE
Time : 3 hours Maximum marks : 70

PART A — (3 x 3 = 9 marks)

Answer any THREE questions out of Five questions in
100 words.

All questions carry equal marks.

1. What is insurance contract?
STUSE () @UILIHSLD GTETDITED 6TETET ?
2. What is Risk?
@)L TSHET GTETMTE) GTEITE ?

3. What is Premium?

(LPEHETLDLD GTEITMITED 6T GHTEUT ?



Define Marine Losses.

L6 &MU g6 UL D euanFuimI.

What is motor insurance?

UTSETD STUILSH GTETMTE) GTETE ?

PART B — (3 x 7 =21 marks)

Answer any THREE questions out of Five questions in

10.

200 words.
All questions carry equal marks.

What are the nature of Insurance?

TS g6 emantd LHM 6T(Lpsis.

What are the objectives of Mortality table?

@ouiy @i Leiemeanruler CrIésniger wraed ?

Describe the features of life policies.

SLWET ST g 6T @QUIDLISET WTeney ?

Describe the measure of indemnity.

Ui @iete| LHH eT(HSIs.

What are the scope of motor insurance?

QUMEeT SIS g6 @UDLSET uhdl er(PSis.
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PART C — (4 x 10 = 40 marks)

Answer any FOUR questions out of Seven questions in

11.

12.

13.

14.

15.

16.

17.

500 words.
All questions carry equal marks.

What are the principles of Insurance?

STULEL g6 QEmaTangger DM er(pgis.

Explain the kinds of Insurance.

STUSL g6 euanasser LM afleu.

Discuss the Selection of risk.
@uLirurhseier Carey uHm afleurs.

Explain the measurement of Risk.
@Lrur@seaier setey ubHm elleul.

Explain the demerits of marine Insurance.

L6 &MU g6 Sanwsdr ubfl efleur.

Discuss the importance of fire Insurance.

& smiuSiger WpasHwsgieud uHd afleurs).

Explain the personal accident Insurance.

sTUL g6 gafltiul L eflugg upm efeur.
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